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AREB 9A12H 2 2 6|FE IR AEB RN

AEB 9A26H 3 3 I|FE & AEB NGNS

AEB 9A29H 2 2 2|1FE R AEB IR

AREB 10A20H 1 1 2|15 E IR AEB ARBRNER

AFEB 10A21H 15 15 12| 8X4E IR NGNS

AFEB 10A31H 5 5 10(5F&8X4E IR NGNS

AFEB 118241 10 10 10(5&8X4E AEB A E/NPIR
AFEB 11A25H 28 28 28|FE IR AEB = RN

AFEB 11A28H 7 7 UE P37 IR IR

AFEB 11A28H 3 3 6|5 & & IR NGNS

AFEB 12A5H 12 12 96|FE IR IR INEBER/INFR
AFB 12R5H 3 3 27| E IR AR BEI/NFR
AR 12A5H 7 7 63| FEXIE AR Toa/NFR
AR 12A6H 13 13 15| FE IR AR SHARIETR
N 1236H 20 20 340(FE X 3& AEB Z D) NPNFRER
AFB 12R7H 165 &% AR BHE/NFERR

AR 12A8H 216|FE & AR IEEENFER
AFB 12A9H 13 13 26| FE IR AR SHARIESR
AR 12R9H 12 12 40| E IR AEB SR Z A= 2
AR 12A13H 7 7 UEEES T AR BH/NFER

AR 12A13H 14 14 1965 & & AR HUCER /NP
AR 12A141 3 3 45|FBE AEB HUCER /NP




AER 128141 6 6 WA= AED FRAE/INFIR

AER 128141 13 13 65| B H1iE A BB BE/NFR

AER 128141 8 8 2|FEXE AER BHERA/NFR
AR 12815H 12 12 19|FE xR B EHAEBXIEFK
AER 12A815H 6 6 216|%BXIE ANER D& EYBINER
AER 12A815H 6 6 0|FEXIE AER FHRE/NFRK
AER 12A815H 4 4 R|FEXIE AER N TIN=
AER 12A816H 13 13 O|FEFXIE ANER SR AN
AER 12A816H 16 16 96| FE X AED EELB/NFR
AER 12A816H 13 13 260|FEXIE AED F BN/
AER 12A816H 14 14 420|528 1E AED T OENER
AER 12A816H 16 16 176| 7B XiE AED INEBBR/INFAR
AER 12A816H 14 14 14|28z AED LD MNP
AER 12A816H 12 12 180 & XiE AED HE/INER

AER 12A816H 15 15 60|53 E i AED pATIpIN= Y

AEB 128168 12 12 156|528 X 1E AEB PN O NIVIN=2Y R
AER 128178 17 17 47| 2BXIE AED B EINER

AER 12A819H 11 11 11|58 %z AED FRZAE /NFIR
AER 12A819H 13 13 65|58 1% AED FRZAE /NFIR
AEB 12819H 6 6 6| FEXIE AEB =R EIN= N
AER 12A819H 11 11 21|58 XIE AED RENFKR

AER 12A819H 9 9 21| EXIE AED i IIGN=285%

AR 128198 13 13 A(FEXE AEB EBLHBNER
AR 128198 13 13 224|FBEXE AEB EIHNFR

AR 128198 12 12 34|FE IR 2B FENE/INFERR

AR 128198 9 9 18| B Xk 2B BB /NER




AER 12A819H 14 14 1750| % E 4z AED RENFR
AER 12A819H 12 12 157|FEXiE AER FEHE/NF AR
AER 12A819H 16 16 52|FE X ANER FORAFFIR
AER 12A819H 14 14 39|FBEXIE AER IATITIN= 357
AER 12A819H 11 11 11|%EXiE AER ==V
AER 12A819H 12 12 39|FEXIE AER HE/NFIR
AER 12A819H 17 17 136| %X iE ANER EHANER
AER 12820H 14 14 154|FEXiE AER BEE/NFR
AER 128200 15 15 135|%EXIE AED IBE R FIR
AER 128200 15 15 313|FEXE AED EIHNER
AER 128200 12 12 96| FEXIE AED i IIGN=285%
AER 128200 11 11 11|58 xiE AED MR TE/INFAR
AER 128200 18 18 162| % EXIE AED NN
AER 128200 15 15 120|% & xR AED EHENER
AER 128200 15 15 120(F B XiE AED INERIINERAR
AER 128200 14 14 2|FBXIE AED B DB NER
AER 128200 15 15 800|% &1 AED PORAINFEARR
AER 128211 14 14 87|FE & AED EE/NFER
AER 128211 13 13 17| B XIE AED T OENER
AER 128211 3 3 21| EXIE AED HWRD /NP
AER 128211 16 16 96| FE X AED [N
AER 128211 20 20 20|FE xR AED paiLlN=
AR 128218 46 46 360(FEXIE A BB BIENER
AR 128218 13 13 52| FEXIE A BB EAT/NFAR
AR 128218 26 26 1047 E xR 2B NS N
AR 128218 15 15 165|F B X1z 2B FEARNER




AER 128211 14 14 98|FEXIE ANER A NFR
AER 128221 16 16 9| FEXIE ANER FHE B /NP
AER 128221 14 14 14|%8XIE AER IATITIN= 357
AER 128221 26 26 104|2EBXiE ANER BEHEFREEFRE
AER 128221 31 31 304|FBXIE ANER ENTITRIN=a0
AER 128221 16 16 176|532 EBXiE ANER INEBER/INFAR
AER 128221 14 14 98|FEXIE ANER FHE BN
AER 128 22H 11 11 187|%E X & ANER FINNBNER
AER 128221 14 14 98|FEXIE AED IATITIN= 357
AER 128221 18 18 324|FEXIE AED ESPRRN=aY
AER 128221 13 13 390|FE X AED T OENER
AER 128221 14 14 M| FEXIE AED BR/INER
AER 128221 14 14 252|FEXIE AED LD MNP
AER 128221 12 12 180 & XiE AED FRE/NFR
AER 128221 15 15 15|%EXIE AED BREIR A /NFR
AER 128221 15 15 b4|FE X AED RTE/INF
AER 128221 15 15 120|%EXIE AED BANERR
AEB 128228 15 15 2655|FE X R AEB =W WIN=23.%
AER 128221 6 6 6|FEXIE AED RIEHRFR
AER 128221 14 14 2|2 BXIE AED Rl RaVIN=23;7
AEB 128238 46 46 07| EXE AEB ENTTE S=WIN=a0 o
AER 128231 29 29 493|% B 1E AED BRI
AR 128238 15 15 60|FE X IR A BB FEARNER
AR 128238 14 14 126|F & X% A BB BH/NFR
AR 128238 54 54 S4|FEXIE AEB D NUNERR
AER 1A31H 4 15 I AVA=0% AED STEREE




